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Sump = +15°C, T, = +20°C
o T

oump = 110°C, T, = +20°C
I\/I K 1 * Pump Inspection ( Feb. 13 — 14)
* Toump = +10°C, T; = +20°C (Feb. 18 — 25)
( I—T_OOB) T =+5°C, T, = +15°C (Feb. 25 — May. 23 )
 Pump Inspection ( May 23 — 24 ) & Restart ( May 27)
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MK1 (LT003) Weekly Data Set (July 29 — Aug. 04)
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MKI$T003). Daily Based Analysis
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MK #2

( LT-OOZ) * Toump = 10°C, T, = +5°C (constant condition)
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MK2 (LT002) Weekly Data Set (July 29 — Aug. 04
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MK2 (LT002)
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MK2 (LT002),, Full D Set
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Temperature (°C) AP (mbar) Flow Rate (g/sec)

APS (bar)
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MK #3
(FS-002)

° Tpump

* Toump

* Stop running pump on 03.06.2019

= +15°C with IPA (Dec. 17-20, 2018)
= +0°C, T, = +5°C (constant condition)
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MK3

Temperature (°C) AP (mbar) Flow Rate (g/sec)
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Toumpoay = +0-94 + 7.22(°C)
1
| b b b b b b b b b b e B B b b e b b e b e b b e b b b b b b Leey
00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00
18.10 2510 01.11  08.11 1511 22.11 2911 0612 1312 2012 2712  03.01 10.01 17.01 2401 3101 07.02 1402 21.02 28.02 07.03 1403 21.03 2803 0404 11.04 1804 2504 0205 09.05 16.05 2305 30.05
APS, = 40.12+ 8.40 (bar)
80 AP[0)/At = 1.274e-08 + 1.311e-11 (bar/s)
70 = APSPump = 38.14 % 11.15 (bar)
AP[1])/At = 1.302e-08 + 1.289e-11 (bar/s)
60
' (] i ' . .
e b b b b b b b b b b v b b b b s b B b b b b v b s b b s b b b b nn e
00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00 00:00
18.10 25.10 01.11 08.11 15.11 22.11 29.11 06.12 13.12 20.12 27.12 03.01 10.01 17.01 24.01 31.01 07.02 14.02 21.02 28.02 07.03 14.03 21.03 28.03 04.04 11.04 18.04 25.04 02.05 09.05 16.05 23.05 30.05

Q= 1.808 + 0.942 (g/s)
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